3 0 @ 2.7 B 4

@ -35



3x+T7=-5x-1

3x+5x=-1-[ |
=[]
ax= ] .

A= & 22

Ll
i

7kl Soizt 4

® 7,2,-8,-4 ® 7,8,-8,1 ® 7,8,-8,-1

@ -7.8-8, -1 ® -7.8,-8.1



2SAH(E) | =4(9)
0~ 30" 8
30°T 60" 15
60°7F ~ 90" 4
90°F ~ 120™% 3
A 30

M



4. o o4 gABCD = oEFGH € o, x + y 9] 2t Jtotolat.

F
\

|
I
yem



5. the TRl chulAs el gt g AL

O A& @ #7715 @ z7rm

@ A= G) ApzZrEo



6. oW Aol 132 Baflor T AS AEale] 13-4 BAHY HG}
Q0] 47105 7} E19tt. o1 B AHALE Fatoleh

YEE
-



sfelet.

]

S

3x—2y+ {bx—dy— (x=Ty) + 2x} & 7

a4

ot

7.



8.

x+ay =2 o] g 5l|7} (-2,-2)

o

D =2 ® -1 3 0



= x—4<2x+1
SREEE =

3x+6>-1+4x

i

D b5<x<T @ -5<x, T<x

@ -7<x<5 B -7<x<-5

ofet.

® -5<x<7



10.

27)2] F41918 Ao &
e

=g
=¥

SRR

rr

Jok

ftlo



11. o2 el AD = DB, AE = EC ©]%, BC = 10cm & o, DE
o] Zolg Fafoiat,

A




12, a2 - 4p? & ASEshu?

@ (a-2b)° @ (a+ 2b) (a-2b)
® (a+b)(a-4b) @ (a+2)(b-2)
® (a+2b)?



@ 2 ® 3 @ 4 ® 5

D1






15. o5 oA 22827 7P 2 A2?

@ 1, 10, 1, 10, 1, 10 @ 4,6, 4,6, 4,6
® 1, 10, 3, 10, 5, 10 @ 5,5 5 55,5

® 4, 6, 4, 6, 1, 10



16. ©& J%3} o] gABCD 7} AB = 13cm , BC = 15cm , AD = 10cm

Q) Aete 29 o, BD o dolg Fafelat

_-10cm-~ _




17. oh2 193 o] ¥i2 50 Zo)7t 1 <l AHRHolA tan x & WE=
HEo9

.

—



18. Thg 1ol x o] @ TohE?

@ 243

G 342



@ Al 2,34

® #H (4,-2)= Atk



ol&=?

2 A Fi2e |

yE

=17 X3,

@ 4 ® 5 @ 6 ® 8

@D 3



25
O = cm

® —=cm

27
@ —cm

® —cm

yl\

= [e)
Z o]
(cm)

vvvvvv




22. ©& 172 AD//BC ? AfthE]Eo]t}. AACD = 48cm?, AABO =
24cm? & @, AAOD 9] Y o]=?

A D

@ 16 cm? @ 28cm? @ 20cm?

@ 929 cm?2 3 24 cm?2



23.

ohe B4 VIE -3 7 347} S ke A4 x 9] Lo §4)

BA
Yo Ag BF 12 WY

gO
flo

H7

="
@ 2 © 9 © 12 ® 15 @ 16
® 18

© 0.6 © 0,60 ® 0,6
® ©,6,0 ® ©, 0,06



&%},

il

<
d

Tod

ok

o R golt,

1000

83}

=

@



25.

] ]—l:ﬂ-;(-]/l]x 4x-3=09 F 224

-5fodat,

s
=¥

°1'Eﬂ,a+b9]

)



